2.8

After 1NT - 2( - 2(/( - 2NT.  –  what is a suit bid?
Here we consider the sequences: -

1NT - 2( - 2( - 2NT - 3(
   and 

1NT - 2( - 2( - 2NT - 3(
What can they possibly mean? Obviously forcing to game. But why not simply bid 3NT? Maybe opener has opened with a 5 card major and is giving responder a choice? Possibly, but if opener elected to open 1NT instead of 1(/( then he presumably has a hand suited to NT and partner’s bidding has not changed that. 

Hand A
However, some people’s style is to open 1NT on hands like this and then a bid



that says ‘I have values for game and my major is 5 card and I have a weak
( AQJ94
suit’ may come in very handy.

( KJ4

 

( 63

 

( AQ6


Example 

West 
East
West

East



( AQJ94
( K86
1NT

2(
( KJ4
( A852
2(

2NT

( 63
( Q75
3(
(1)
4(
(2)



( AQ6

( J75
pass

(1)
West is worried about (’s and so emphasises his (’s, this bid is forcing to 3NT/4(. 

(2)
With good (’s, East elects to go for the major suit game.

Now you could elaborate on this principle, with West bidding the suit which he is worried about. But that really would be giving too much information away to the defence, especially if the final contract is 3NT. 


The bottom line. Many experienced players will open 1NT on any balanced hand with a 

5 card major. If you go along with this philosophy then this is certainly a good convention for you. It is only available when partner has an invitational hand. 
Note
If you play Stayman Super-Accepts then this convention may not be required.


However, some players prefer to reserve the Stayman super-accepts for hands

( AQJ94
that are absolutely top of the range like this.

( KJ9
And note also that the Stayman Super-Accept is perhaps dodgy when playing

( 103
a weak NT, but this sequence is fine as responder has invitational values.


( AQ9
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